Solving Systems of equations
by Elimination
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Selving Systems of Linear Equations by Elimination

What you will learn about:

How to sclve & system of equations by slimination.

Stop 1. Wiite both eguations in standars form. It any cosfficients ars fractions, claar tham
Shep 2. Maks the confiicanis of one varabin opposdes.

» Dacide which varabie you will alimenaets
= Muliply one or both equatans 80 that the cosMdisnin of that valalds s oppoaies

Step 3. Add the eguations resulting fraim Sten 2 to efiminabe one virtable.
Stap 4. Solve for he remaning varitike

E lemarn l«-'l & & WVar: "l'!tﬁ Step & Substifute the solution from Stap 4 10 one af the ongine squatians, Then solve for the oiner vanadle

Stap B Write the solution as an ordared e
Step V. Check that e ordemnd pair is 2 solution 1o both oniginal aquationa.

Solve th by eleminati [x+y=10
olve the system by elemination x—y=12
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Solve the system by elemination E‘Sx -6y =10
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Solve the system by elemination {

Sx —9y =—4
x4y =3 Y¢ I‘)—by =|
G) sy -4y=-4 Y-Yy=|
-~y =71 -5\{:-—5

X=1 (l)h y=]
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Solve the system by eleminatig Tx + 2y = -6\5
G
© 8}(-—67{ =13 7(0’)4—27:-&
() 2lx Yoy =-id 2y=-6
24x <O (0 ,% y=-3
Y=0 !
 (Bx—4y=-9)°
Solve the system by elemination B 3}’ - 14)‘,
"TY-JR)/ ==] V)= =-9
() 20 +12y =St Y-ty = -9
aa e ()
Y= |
&(H%Fbl
Solve the system by elemination . +2 17\
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(:bc by = 11}“ FORTR
Gy +4y =S () ¥y =12
- by -4y =13 b ry=In
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Solve the SyT.*m by elemination
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Y-Hy =19 2% -3(2)=

~Gxhy=-18 (bﬂ 2%~ b

() by-8Y = 2°
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Solve the system by elemination {

3x+}£}y =12
T
(32 =,
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2= 172

IH E-'ﬁb{"-lY '“cn?- solotivns

Solve the system by elemination {—63( ad 15}’ =
2x— 8y =—5
—lxX +iSy =10
(y) bx ISy = 1§

O

N ) Sal' wtion

Solve thePs::t::t:r!;elemination { % 3_’}’ i
—14x+ 6y =28
14y by =-¢ No 5o
UV ey = §
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